
5266 5266.5 5267 5267.5 5268
cyclenum

0.5−

0

0.5

1

1.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

91−

90.5−

90−

89.5−

89−

us
l_

1X
usl_1X:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

2.4−

2.2−

2−

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

us
l_

4a
Y

usl_4aY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

32.6

32.8

33

33.2

33.4

33.6

33.8

34

34.2

34.4

34.6

34.8

us
l_

4e
X

usl_4eX:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

21

21.5

22

22.5

23

us
l_

4e
Y

usl_4eY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

39−

38.8−

38.6−

38.4−

38.2−

us
l_

12
X

usl_12X:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

135.5−

135−

134.5−

134−

133.5−us
r_

1X

usr_1X:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

3−

2.5−

2−

1.5−

1−

us
r_

4a
Y

usr_4aY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

198.6

198.8

199

199.2

199.4

199.6

199.8

200

200.2

200.4

200.6

200.8

us
r_

4e
X

usr_4eX:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

17

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

us
r_

4e
Y

usr_4eY:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

41.4−

41.2−

41−

40.8−

40.6−

40.4−

40.2−

40−

39.8−

39.6−

39.4−

39.2−

us
r_

12
X

usr_12X:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

23094.5

23095

23095.5

23096

23096.5

us
l_

co
il1

usl_coil1:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

3459.5

3460

3460.5

3461

3461.5

us
l_

co
il3

usl_coil3:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

4181.5

4182

4182.5

4183

4183.5

us
l_

co
il4

usl_coil4:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

1318−

1317.5−

1317−

1316.5−

1316−

us
l_

co
il6

usl_coil6:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

1872.5

1873

1873.5

1874

1874.5

us
l_

co
il7

usl_coil7:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

19799−

19798.5−

19798−

19797.5−

19797−

us
r_

co
il1

usr_coil1:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

2716−

2715.5−

2715−

2714.5−

2714−

us
r_

co
il3

usr_coil3:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

4240

4240.2

4240.4

4240.6

4240.8

4241

4241.2

4241.4

4241.6

4241.8

4242

4242.2

us
r_

co
il4

usr_coil4:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

738.5−

738−

737.5−

737−

736.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

36614

36614.5

36615

36615.5

36616

us
r_

co
il7

usr_coil7:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

279.5−

279−

278.5−

278−

277.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

19−

18.5−

18−

17.5−

17−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

296

296.5

297

297.5

298

1X
_c

oi
l7

1X_coil7:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

335.5−

335−

334.5−

334−

333.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

43.5−

43−

42.5−

42−

41.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

285

285.5

286

286.5

287

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

175.5

176

176.5

177

177.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

35

35.2

35.4

35.6

35.8

36

36.2

36.4

36.6

36.8

37

37.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

12−

11.5−

11−

10.5−

10−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

180.5

181

181.5

182

182.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

27.8−

27.6−

27.4−

27.2−

27−

26.8−

26.6−

26.4−

26.2−

26−

25.8−

25.6−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

9.5−

9−

8.5−

8−

7.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 5959}



5266 5266.5 5267 5267.5 5268
cyclenum

236−

235.5−

235−

234.5−

234−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

82−

81.5−

81−

80.5−

80−12
X

_c
oi

l3

12X_coil3:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

4.4−

4.2−

4−

3.8−

3.6−

3.4−

3.2−

3−

2.8−

2.6−

2.4−

2.2−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5

5.5

6

6.5

7

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

488−

487.5−

487−

486.5−

486−12
X

_c
oi

l7

12X_coil7:cyclenum {run == 5959}

5266 5266.5 5267 5267.5 5268
cyclenum

5957

5957.5

5958

5958.5

5959

5959.5

5960

5960.5

5961

ru
n

run:cyclenum {run == 5959}
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